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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] 

vU;Fkk ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA 

ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 

ANSWER SHEET) esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy 

fd;s x;s ÁFker% ;Fkk fufnZ”V Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 
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1. Is there any time limit for issue of 
notice in cases where tax collected 
but not paid ? 
(A)   No time limit 
(B) 1 year  
(C) 3 years  
(D) 5 years  

 1. laxzg i’pkr~ dj ds tek ugah djkus ij] 
uksfVl fuxZeu le; lhek D;k gS \ 
(A) dksbZ le; lhek ugh 
(B) 1 o”kZ 
(C) 3 o”kZ 
(D) 5 o”kZ 

2. Whether the amount of tax, 
interest and penality demanded in 
the order can exceed the amount 
specified in the Notice : 
(A)   Yes 
(B) No 
(C) At proper officer’s discretion   
(D) None of these  

 2. dj] C;kt ,oa vFkZn.M ds vkns’k esa ekaxh 
xbZ jkf’k uksfVl esa fufnZ”V jkf’k ls vf/kd 
gks ldrh gS % 
(A) gk¡  
(B) ugah 
(C) lE;d~ vf/kdkjh ds fu.kZ;k/khu 
(D) bues ls dksbZ ugha 

3. What is the maximum number of 
times a hearing can be adjourned  
(A)   1 
(B) 3 
(C) 5  
(D) None of these    

 3. fdlh lquokbZ dks vf/kdre fdrus ckj 
LFkfxr fd;k tk ldrk gS % 
(A) ,d&ckj 
(B) rhu ckj 
(C) ik¡p ckj 
(D) buesa ls dksbZ ugha 

4. Is it obligatory on the part of the 
department to take on record the 
assessee’s representation during 
adjudication and issue of order ? 
(A)   Yes 
(B) No 
(C) At proper officer’s discretion   
(D) If requested by notice  

 4. U;k; fu.kZ;u ds nkSjku djnkrk }kjk izLrqr 
tokch lQkbZ dks foHkkx }kjk fjdkWMZ djuk 
vko’;d gS % 
(A) gka 
(B) ugha 
(C) lE;d~ vf/kdkjh ds fu.kZ;k/khu 
(D) ;fn uksfVl }kjk vuqjksf/kr gks 

5. What is the time limit for issue of 
order in case of other than fraud, 
misstatement or suppression ? 
(A)   30 months 
(B) 18 months 
(C) 5 years  
(D) 3 years   

 5. diV] feF;k o.kZu vFkok rF;ksa ds fNiko ls 
fHkUu ekeyksa es vkns’k fuxZeu dh le; 
lhek gS % 
(A) 30 ekg 
(B) 18 ekg 
(C) 5 o”kZ 
(D) 3 o”kZ 
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6. What is the time limit for issue of 
order in case of fraud, 
misstatement or suppression ?  
(A)   30 months 
(B) 18 months 
(C) 5 years 
(D) 3 years  

 6. diV] feF;k o.kZu vFkok rF;ks ds fNiko ds 

ekeys esa vkns’k fuxZeu dh le;&lhek gS % 

(A) 30 ekg 

(B) 18 ekg 

(C) 5 o”kZ 

(D) 3 o”kZ 

7. Banking company or financial 
institution have an option of 
claiming  
(A)   Eligible credit or 50% credit  
(B) Only 50% credit  
(C) Only eligible credit  
(D) Eligible credit and 50% credit  

 7. cSfdax dEiuh ;k foŸkh; laLFkku dks nkok 

djus dk fuEu fodYi izkIr gS % 

(A) xzkºÓ ØsfMV ;k 50%  ØsfMV  

(B) dsoy 50% ØsfMV 

(C) dsoy xzkºÓ ØsfMV 

(D) xzkºÓ ØsfMV ,oa 50% ØsfMV 

8. What is the maximum time limit to 
claim the input tax credit ? 
(A)   Till the date of filing annual 

return  
(B) Due date of September month 

which is following the 
financial year  

(C) Earliest of (A) or (B) 
(D) Later of (A) or (B) 

 8. buiqV VSDl ØsfMV dk nkok djus dh 

vf/kdre le; lhek gS % 

(A) okf”kZd fooj.kks dh izLrqfr rd 

(B) vkxkeh foŸk o”kZ ds flrEcj ekg dh 

folj.kh dh ns; frfFk 

(C) (A) ,oa (B) esa iwoZorhZ 

(D) (A)  ,oa (B) esa i’pkrorhZ 

9. Depreciation on tax component of 
capital goods and plant & 
Machinery is claimed, weather 
input tax credit is permissable :  
(A)   Yes 
(B) No 
(C) Input tax credit is eligible if 

deprecation on tax 
component is on at availed   

(D) None of the above  

 9. iwathxr eky vkSj Iyk.V ,oa e’khujh ds 

ewY; ds dj lEcU/kh HkkM+k ij gkzl dk nkok 

djus ij D;k buiqV VSDl ØsfMr Loh—r gSA 

(A) gka 

(B) ugah 

(C) dj&lEcU/kh Hkkx ij gkzl ugah ysus 

ij buiqV VSDl ØsfMV dh xzgrk gS 

(D) mi;qZDr esa dksbZ ugah 
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10. Can the recipient avail the inputs 

tax credit for the part payment of 

the amount to the supplier with 

180 days ?   

(A)   Yes, on full tax amount & 

partly value amount  

(B) No, he can’t until full amount 

is paid to supplier  

(C) Yes, but proportionately to 

the extent of value tax paid   

(D) Not applicable  

 10. ;fn iwfrZdrkZ dks 180 fnu ds vUnj vkaf’kd 

Hkqxrku djus ij buiqV ØsfMV miyC/k 

gksxhA 

(A) gka] ;fn iwjh dj jkf’k ds lkFk 

vkaf’kd iwfrZ jkf’k 

(B) ugha] tc rd fd iwfrZdrkZ dks lEiw.kZ 

jkf’k ugha pqdkbZ tkrh gSA 

(C) gka] pqdrk dj dh jkf’k ds vuqikr esa  

(D) ykxw ugah 

11. The time limit to pay the value of 

supply will taxes to avail the input 

tax credit ? 

(A)   Three month  

(B) Six months 

(C) 180 days  

(D) Till the date of filing of 

annual return   

 11. buiqV VSDl ØsfMV dh miyf) ds fy;s] dj 

lfgr iwfrZ ds Hkqxrku dh le; lhek gS 

(A) rhu ekg 

(B) N% ekg 

(C) 180 fnu 

(D) okf”kZd fooj.kh izLrqr djus rd 

12. The tax paying documents is : 

(A)   Bill of entry, invoice raised 

on RCM supplies extive  

(B)   Acknowledge copy of tax 

paid to department   

(C) Supply in price by the 

recipient   

(D) Any of the above  

 12. dj pqdrk izi= gS % 

(A) izos’k fcy] RCM dh vk/khu iwfrZ;ks 

ij] fuxZfer chtd vkfn 

(B) foHkkx dh dj Hkqxrku Loh—r dh 

izkfIr 

(C) izkid }kjk iwfrZ chtd 

(D) mi;qZDr ess dksbZ ugah  
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13. Input tax credit on capital goods 

and inputs can be availed in one 

installment or in multiple 

installment : 

(A)   In thirty six installment  

(B) In twelve installment   

(C) In one installment  

(D) In six installment  

 13. iwathxr eky vkSj buiqV ij buiqV VSDl 

ØsfMV ,d fd’kr@cgqfd’krks es miyC/k 

gksrh gSA 

(A) NŸkhl fdLrks esa 

(B) ckjg fd’krks esa 

(C) ,d fdLr esa  

(D) N% fdLrks esa 

14. In case supplier has deposited the 

taxes but the receiver has not 

received the document, is receiver 

entitled to avail credit ?   

(A)   Yes it will be auto populated 

in receipt monthly return  

(B) No as one the condition is not 

full filed 

(C) Yes, if receiver can prove 

later that documents are 

received subsequently  

(D) None of the above    

 14. ;fn iwfrZdrkZ }kjk dj] tek dj fn;k gS] 

ijUrq izkid dks izi= izkIr ugh gq;s gSA D;k 

izkIrdrkZ credit dk izf/kdkjh gSA 

(A) gka izkid dh ekfld foij.kh esa Lo;a 

vafdr gksrh gS  

(B) ugha] D;ksfd ‘krZ iwjh ugha gksrh gSA 

(C) gka] ;fn izkid ckn esa fl) dj ns fd 

izi= izkIr gks pqds gSA 

(D) mi;qZDr es ls dksbZ ugah  

15. Weather credit on inputs should be 

availed based on receipt of 

document or receipt of goods:   

(A)   Receipt of goods  

(B) Receipt of documents  

(C) Both (A) and (B) 

(D) Either receipt of document or 

receipt of goods 

 15. D;k buiqV ij ØsfMV dh miyf)] eky dh 

izkfIr vFkok izi=ksa dh izkfIr ij dh tkrh 

gSA 

(A) eky dh izkfIr 

(B) izi=ks dh izkfIr 

(C) (A) o (B) nksuksa 

(D) eky dh izkfIr vFkok izi=ks dh izkfIr 
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16. The term “used in the course or 

furtherance of business means : 

(A)   It should be directly 

corealeted to output supply  

(B) It is planed to used in course 

of business  

(C) In is used in the course of 

business  

(D) It is used in the course of 

business for making out ward 

supply. 

 16. volk; dks vkxs c<+kus ds nkSjku iz;qDr dk 

vk’k; gS  

(A) bld lEcU/k izR;{kr% mRikn dh iwfrZ 

ls gksuk pkfg,A  

(B) O;olk; ds nkSjku iz;ksx dh ;kstuk 

gSA 

(C) bldk iz;ksx volk; ds fy;s fd;k 

x;k gSA 

(D) ckg~; iwfrZ ds volk; dks pykus ds 

nkSjku iz;qDr 

17. The received Rs. 60,000 as arrears 

of rent during the previous year 

2020-21. The amount taxable 

Under Section 25(A) would be : 

(A)   Rs. 60,000 

(B) Rs. 42,000 

(C) Rs. 40,000 

(D) Rs. 30,000 

 17. xr o”kZ 2020&21 esa A dks cdk;k fdjk;s 

ds 60000 : izkIr gq,A /kkjk 25 A ds 

vUrxZr dj;ksX; jkf’k gksxh % 

(A) 60000 : 

(B) 42000 : 

(C) 40000 : 

(D) 30000 : 

18. Municipal taxes to be deducted 

from GAV should be : 

(A)   Paid by the tenant during 

previous year  

(B) Paid by owner during 

previous year   

(C) Accrued during the previous 

year   

(D) None of these  

 18. edku ds ldy okf”kZd ewY; esa ls 

uxjikfydk dj dh dVkSrh feysxh % 

(A) xr o”kZ esa fdjk;snkj }kjk fn;k x;k 

(B) xr o”kZ esa edku ekfyd }kjk fn;k 

x;k 

(C) xr o”kZ esa ns; 

(D) buesa ls fdlh dks ugha 
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19. The base of computation of 
income under the head ‘Income 
from House Property’ is : 
(A)   Municipal value 
(B) Rent received  
(C) Standard rent  
(D) Annual value  

 19. *edku lEifŸk ls vk;* ‘kh”kZd ds vUrxZr 

vk; x.kuk dk vk/kkj gksrk gS % 

(A) uxj ikfydk ewY; 

(B) izkIr fdjk;k 

(C) ekud fdjk;k 

(D) okf”kZd ewY; 

20. Unrealised rent supsequent to 
claiming deduction realized Rs. 
1,00,000. from this amount 
deduction shall be allowed.  
(A)   Zero 
(B) Rs. 20,000 
(C) Rs. 30,000 
(D) Rs. 40,000 

 20. u olwy gq, fdjk;s dh dVkSrh Loh—r gksus 

ds ckn fdjk;k olwy gqvk 100000 :A bl 

jkf’k es ls dVkSrh feysxh % 

(A) ‘kwU; 

(B) 20000 : 

(C) 30000 : 

(D) 40000 : 

21. Arreais of rent received during 
previous year Rs. 1,00,000, from 
this amount deduction shall be 
allowed. 
(A)   Zero 
(B) Rs. 20,000 
(C) Rs. 30,000 
(D) Rs. 50,000 

 21. xr o”kZ esa cdk;k fdjk;k 100000 : izkIr 

gqvk bles ls jkf’k esa dVkSrh feysxk % 

(A) ‘kwU; 

(B) 20000 : 

(C) 30000 : 

(D) 50000 : 

22. The annual value of a house 
property is Rs. 40,000 standard 
decuction u/s 24(A) shall be : 
(A)   Rs. 8,000 
(B) Rs. 10,000 
(C) Rs. 12,000 
(D) Rs. 15,000 

 22. ,d edku dk okf”kZd ewY; 40000 : gSA 

/kkjk 24(a) ds vUrxZr oS/kkfud dVkSrh 

gksxhA 

(A) 8000 : 

(B) 10000 : 

(C) 12000 : 

(D) 15000 : 
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23. The annual value of a house 
property is Rs. 1,20,000 B and C 
are equal co-owners of the house 
B’s income from house property 
shall be: 
(A)   Rs. 42,000 
(B) Rs. 60,000 
(C) Rs. 80,000 
(D) Rs. 1,20,000 

 23. ,d edku lEifŸk dk okf”kZd ewY; 120000 

: gSA bl edku ds cjkcj ds lgLokeh B 

,oa C gSA B dh edku lEifŸk ls vk; 

gksxh % 

(A) 42000 : 

(B) 60000 : 

(C) 80000 : 

(D) 120000 : 

24. Which house property is not 
charged to tax : 
(A)   Farm house  
(B) Palace of ex-ruler  
(C) Business building  
(D) All of these  

 24. dkSu lh edku lEifŸk ls vk; dj&;ksX; 

ugha gS \ 

(A) QkeZ gkml 

(B) jktk dk egy 

(C) O;kikfjd Hkou 

(D) ;s lHkh 
25. The annual value of self occupied 

house is : 
(A)   Municipal valuation  
(B) Fair rent  
(C) Zero (Nil) 
(D) Whichever is less  

 25. Lo;a ds jgus ds edku dk okf”kZd ewY; gksrk 

gS % 

(A) uxj ikfydk ewY;kadu 

(B) mfpr fdjk;k 

(C) ‘kwU; 

(D) buesa ls tks de gks 
26. X purchased a house for his 

residence and borrowed a loan of 
Rs. 9,75,000 in 2012. The 
deduction of interest will be when 
interest payable in previous year is 
Rs. 1,50,000 : 
(A)   Rs. 30,000 
(B) Rs. 1,75,000 
(C) Rs. 1,50,000 
(D) Rs. 45,000 

 26. ,Dl us Lo;a ds jgus dk edku 2012 esa 

Ø; fd;k ftl ij mlus 975000 : _.k 

fy;k] C;kt dh dVkSrh gksxh] tcfd xr o”kZ 

esa ns; C;kt 150000 : gSA 

(A) 30]000 : 

(B) 1]75]000 : 

(C) 1]50]000 : 

(D) 45]000 : 
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27. Income from the house for self 
business is : 
(A)   Net profit  
(B) Fair rent  
(C) Municipal value  
(D) Nil  

 27. Lo;a ds O;kikj ds mi;ksx esa vkus okys 

edku dh vk; gksrh gS % 

(A) ‘kq) ykHk 

(B) mfpr fdjk;k 

(C) uxj ikfydk ewY; 

(D) ‘kwU; 

28. The maximum deduction of 

interest on loan taken for 

construction of house given on 

rent is : 

(A)   Rs. 1,50,000 

(B) Rs. 1,00,000 

(C) Rs. 30,000 

(D) No limit  

 28. fdjk;s ij mBs gq, edku ds fuekZ.k gsrw fy, 

x;s _.k ij C;kt dh vf/kdre dVkSrh dh 

lhek gS % 

(A) 150000 : 

(B) 100000 : 

(C) 30000 : 

(D) dksbZ lhek ugh 

29. For income tax purpose, the house 

means : 

(A)   Dwelling house  

(B) Building for office use  

(C) Godown  

(D) Above all are included in the 

house  

 29. vk;dj ds mís’; ds fy, edku dk vk’k; 

gS %  

(A) jgus dk edku 

(B) dk;kZy; ds iz;ksx gsrq 

(C) xksnke 

(D) edku esa ;s lHkh lfEefyr gS 

30. The annual value of vacant house 

property referred to in sec. 

23(2)(b) shall be : 

(A)   Municipal value  

(B) Fair rent  

(C) Standard rent  

(D) Nil 

 30. /kkjk 23¼2½¼b½ esa of.kZr [kkyh jgh 

edku&lEifŸk dk okf”kZd ewY; gksxk % 

(A) uxj ikfydk ewY; 

(B) mfpr fdjk;k 

(C) ekud fdjk;k 

(D) ‘kwU; 



Series-C  LL.B613 / 392 Page - 11 

31. Interest paid Rs. 1,20,000 on loan 
taken in the in the previous year 
2020-21 for the renovation of self-
occupied house. In computing 
income from house property the 
deduction is allowable to the 
extent of :  
(A)   Rs.1,20,000 
(B) Rs. 1,00,000 
(C) Rs. 30,000 
(D) Nil 

 31. Lo;a ds jgus ds edku ds uohudj.k gsrq 

o”kZ 2020&21 esa fd, x, _.k ij 120000 

: C;kt fn;kA edku lEifŸk ls vk; dh 

x.kuk djus esa dVkSrh ;ksX; jkf’k gS % 

(A) 120000 : 

(B) 100000 : 

(C) 30000 : 

(D) ‘kwU; 

32. Interest on loan paid prior to 
completion of construction of 
house shall be allowed as 
deduction. 
(A)   In 2 Installments in 2 years 
(B) In 3 Installments in 3 years 
(C) In 4 Installments in 4 years  
(D) In 5 Installments in 5 years   

 32. Hkou fuekZ.k ls iwoZ _.k ij Hkqxrku dh xbZ 

C;kt dh jkf’k dVkSrh ds fy,] vuqeU; gS% 

(A) 2 o”kksZ esa 2 fdLrks esa 

(B) 3 o”kksZ esa 3 fdLrks esa 

(C) 4 o”kksZ esa 4 fdLrks esa 

(D) 5 o”kksZ esa 5 fdLrks esa 

33. Suresh purchased a house for his 
residential purpose after taking a 
loan in May, 2019. During the 
Previous year 2020-21 he paid 
Interest on loan Rs. 2,10,000 . In 
computing income from house 
property the deduction is allowable 
to the extent of : 
(A)   Rs. 2,10,000 
(B) Rs. 1,00,000 
(C) Rs. 75,000 
(D) Rs. 2,00,000 

 33. lqjs’k us ebZ 2019 esa _.k ysdj Lo;a ds 

jgus dk edku [kjhnkA xr o”kZ 2020&21 esa 

_.k ij 210000: C;kt fn;kA 

edku&lEifŸk ls vk; dh x.kuk djus esa 

dVkSrh ;ksX; jkf’k gS % 

(A) 210000 : 

(B) 100000 : 

(C) 75000 : 

(D) 200000 : 



Series-C  LL.B613 / 392 Page - 12 

34. Deduction for other expenses 
except for interest in the 
computation of Income from 
House Property is allowable to the 
extent of : 
(A)   1/5 of Annual Value  
(B) 1/4  of Annual Value 
(C) 30 % of Annual Value 
(D) 1/4  of rent Value  

 34. edku lEifŸk ls vk; dh x.kuk djrs le; 

O;kt dks NksM+dj vU; O;;ks ds lEcU/k esa 

dVkSrh dh ek=k gS % 

(A) okf”kZd ewY; dk 1@5 Hkkx 

(B) okf”kZd ewY; dk 1@4  Hkkx 

(C) okf”kZd ewY; dk 30%   

(D) izkIr fdjk;s dk 1@4 Hkkx 

35. On retirement of govt. employee 
exemption is available on : 
(A)   A committed value of 

pension   
(B) Amount of gratuity  
(C) Encashment of earned leave    
(D) All of these    

 35. Lkjdkjh deZpkjh ds vodk’k xzg.k djus ij 

dj eqDr gSA 

(A) isa’ku dh ,d eq’kr jkf’k 

(B) xzsP;wVh dh jkf’k 

(C) vftZr vodk’k osru 

(D) buesa lHkh 

36. Amount received from recognized 
provident fund at the time of 
retirement is exempt. 
(A)   Rs. 300000/- 
(B) Rs. 500000/- 
(C) Rs. 10,00000/- 
(D) Whole amount  

 36. lsokfuòr gksus ij izekf.kr izkfoMs.V Q.M ls 

izkIr jkf’k dj eqDr gksrh gSA 

(A) : 300000@& 

(B) : 500000@& 

(C) : 10]00000@& 

(D) lkjh jkf’k 

37. Maximum amount of exemption in 
case of compensation on valuntity 
retirement is    
(A)   Rs. 400000/- 
(B) Rs. 500000/- 
(C) Rs. 800000/- 
(D) Rs. 10,00000/- 

 37. LosPNk ls vodk’k xzg.k djus ij NfriwfrZ 

dh vf/kdre dj eqDr jkf’k gS \ 

(A) : 400000@& 

(B) : 500000@& 

(C) : 800000@& 

(D) : 10]00000@& 
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38. The periodic payment of money 
for the past is known as :  
(A)   Pension  
(B) Commuted pension  
(C) Gratuity  
(D) None of these  

 38. Hkwrdkyhu lsokvksa ds cnys esa le;&le; 

ij feyus okyh jkf’k dks dgrs gSA 

(A) isa’ku 

(B) isa’ku dh ,d eq’kr jkf’k 

(C) xszP;wVh 

(D) buesa ls dksbZ ugh 

39. Gratuity received by a govt. 
Employee is :  
(A)   Fully Exempted  
(B) Partly Exempted 
(C) Fully Taxable  
(D) Exempted upto Rs. 1000000/- 

 39. ,d ljdkjh deZpkjh dks izkIr Gratuity  

dh jde gksrh gS A 

(A) iw.kZr;k dj&eqDr  

(B) vkaf’kd dj eqDr  

(C) iw.kZr;k dj&;ksX; 

(D) : 1000000@& rd dj eqDr 

40. In the case of non-govt. employees 
covered by the payment of gratuity 
act 1972, what is the maximum 
amount of gratuity exempt from 
Tax ?  
(A)   Rs. 10,0000/- 
(B) Rs. 2,50000/- 
(C) Rs. 20,00000/- 
(D) Rs. 500000/- 

 40. xSj ljdkjh deZpkjh tks fd xzsP;wVh dh 

Hkqxrku vf/kfu;e] 1972 ds vUrxZr vkrs gS 

muds fy, dj eqDr xzsP;wVh dh vf/kdre 

jkf’k D;k gS \ 

(A) 1000000@& 

(B) 250000@& 

(C) 2000000@& 

(D) 500000@& 

41. The comercited pension, in case of 
employee, does not get gratuity 
shall be Taxable ? 
(A)   1/3 of total pension   
(B) 2/3 of total pension   
(C) 1/4 of total pension   
(D) 1/2 of total pension   

 41. ,d deZpkjh dks xzsP;qVh izkIr ugh gksrh gS] 

rks mls izkIr ,d eq’kr is’ku dj&;ksX; 

gksrh gSA  

(A) dqy isa’ku dk 1@3 Hkkx 

(B) dqy isa’ku dk 2@3 Hkkx 

(C) dqy isa’ku dk 1@4 Hkkx 

(D) dqy isa’ku dk 1@2 Hkkx 
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42. Maximum amount of exemption in 
case of compensation on 
retrenchment is : 
(A)   Rs.300000 
(B) Rs.400000 
(C) Rs.500000 
(D) Rs.600000 

 42. NaaVuh ds dkj.k {kfriwfrZ dh vf/kdre dj 
eqDr jkf’k gS % 
(A) 300000 : 
(B) 400000 : 
(C) 500000 : 
(D) 600000 : 

43. Maximum exepted amount of 
encashement of earned leave 
received by an employee is : 
(A)   Rs.200000 
(B) Rs.135360 
(C) Rs. 240000 
(D) Rs. 300000 

 43. deZpkjh }kjk u yh x;h NqfÍ;ks ds cnys esa 
izkIr jde dh vf/kdre dj eqDr jkf’k gS % 
(A) 200000 : 
(B) 135360 : 
(C) 240000 : 
(D) 300000 : 

44. The deduction allowable in respect 
of family pension taxable under 
“Income from other sources” is : 
(A)   331/3% of the pension  
(B) 30% of the pension or 

Rs.15000 whichever is less  
(C) 331/3% of the pension Rs. 

15000 whichever is less   
(D) Nil  

 44. vU; lk/kuks ls vk; ‘kh”kZ’k esa dj ;ksX; 
ifjokj isa’ku esa ls dVkSrh feyrh gS % 
(A) isa’ku dh ,d&frgkbZ 
(B) isa’ku dh 30%  ;k 15000 : tks de 

gks 
(C) isa’ku dk ,d frgkbZ ;k 15000 :] tks 

de gks 
(D) ‘kwU; 

45. Salary of a MP will be taxable 
under head. 
(A)   Salaries  
(B) Profits from business and 

profession  
(C) Capital gains  
(D) Income from other sources  

 45. ,d lkaln dk osru fdl ‘kh”kZd esa 
dj&;ksX; gS \ 
(A) osru  
(B) O;kikj vFkok is’ks ls ykHk 
(C) iwath ykHk 
(D) vU; lzksrks ls vk; 

46. Income from Sub-Letting of house 
property is : 
(A)   Income from other sources  
(B) Property Income  
(C) Exempted  
(D) Capital gain 

 46. edku&lEifŸk dks fdjk;snkj }kjk iqu% 
fdjk;s ij mBkus ls vk; gS % 
(A) vU; lk/kuks ls vk; 
(B) edku&lEifŸk ls vk; 
(C) dj&eqDr 
(D) iwath ykHk 
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47. Under which head pension is 
taxable :  
(A)   Salaries  
(B) Income from other sources  
(C) Capital gains  
(D) None of these  

 47. isa'ku fdl ‘kh”kZd ds vUrxZr dj&;ksX; 

gksrh gS % 

(A) osru 

(B) vU; lk/kuks ls vk; 

(C) iwath ykHk 

(D) buesa ls dksbZ ugh 

48. An individual received family 
pension of 60000. How much 
standard deduction shall be 
allowed to him?  
(A)   Rs.20000 
(B) Rs.25000 
(C) Rs.40000  
(D) Rs.15000   

 48. ,d O;fDr dks 60000: ifjokj isa’ku ds 

izkIr gq,A ekud dVkSrh fdruh feysxh\ 

(A) 20000 : 

(B) 25000 : 

(C) 400000 : 

(D) 15000 : 

49. Which of the following is not 
chargeable to tax under the head 
‘Income from other sources’?   
(A)   Dividend from a co-operative 

society  
(B) Prize on cross-word puzzle  
(C) Profit on sale of the goodwill 

of business  
(D) Interest from bank 

 49. fuEu esa ls dkSu lh vk; *vU; lk/kuks ls 

vk;* ‘kh”kZd esa dj&;ksX; ugha gS \ 

(A) lgdkjh lfefr ls izkIr ykHkka’k  

(B) oxZ igsyh dk buke 

(C) O;kikj dh [;kfr cspus ij ykHk  

(D) cSad ls C;kt 

50. To find out long term capital gain : 
(A)   Cost of Acquisition  
(B) Total cost  
(C) Index cost  
(D) Cost of sales  

 50. nh?kZdkyhu iwath ykHk dh x.kuk esa Kkr dh 

tkrh gSA 

(A) izkIr djus dh ykxr 

(B) dqy ykxr 

(C) funsZ’kkad ykxr 

(D) foØ; ykxr 
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51. Not a capital asset : 

(A)   Stock in trade  

(B) House hold furniture  

(C) Car for personal use   

(D) All of these  

 51. iwath lEifŸk ugha gS % 

(A) O;kikfjd eky 

(B) ?kjsyw QuhZpj 

(C) O;fDrxr mi;ksx dh eksVj dkj 

(D) buesa ls lHkh 

52. Not a capital asset : 
(A)   Agricultural land situated in 

village  
(B) Good will of business  
(C) Car used for business 

purposes  
(D) Jewellery  

 52. iwath lEifŸk ugha gS % 

(A) xk¡o esa fLFkr —f”k Hkwfe  

(B) O;kikj dh [;kfr 

(C) O;kikj esa iz;qDr dj  

(D) vkHkw”k.k 

53. Capital gains on depreciation asset 
will always be  
(A)   STCG 
(B) LTCG 
(C) Tax Free  
(D) None of these  

 53. gzkl gksus okyh lEifŸk;ksa dk iwath ykHk gksxk  

(A) vYidkyhu 

(B) nh?kZdkyhu 

(C) dj&eqDr 

(D) buesa ls dksbZ ugha 

54. Which of the following does not 
come under the category of 
transfer  
(A)   Gift  
(B) Will  
(C) Both (A) and (B) 
(D) None of these  

 54. dkSu lk O;ogkj gLrkarj.k dh Js.kh esa ugh 

vkrk % 

(A) HksaV 

(B) olh;r 

(C) nksuks (A) o (B) 

(D) buesa ls dksbZ ugha 

55. Capital gains arises on : 
(A)   Business capital  
(B) Transfer of capital asset 
(C) Stock of trade  
(D) All of these  

 55. iwath ykHk mfnr gksrk gS % 

(A) O;kikj ds iwath ij 

(B) iwath lEifŸk ds gLrkarj.k ij  

(C) O;kikj ds eky ij 

(D) ;s lHkh ij 
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56. For capital gain being long term 
capital gain an assesse should 
retain the asset for a period of :  
(A)   40 months 
(B) 36 months 
(C) More than 36 months 
(D) Less than 36 months 

 56. iwathxr YkkHk dks nh?kZdkyhu gksus ds fy, 
djnkrk ds ikl lEifŸk jguh pkfg, % 
(A) 40 ekg 
(B) 36 ekg 
(C) 36 ekg ls vf/kd  
(D) 36 ekg ls de 

57. Sum received from the sale of 
agricultural land shall be covered 
under the category of the 
following income : 
(A)   Capital gains 
(B) Agricultural income  
(C) Business income  
(D) None of these  

 57. —f”k Hkwfe ds foØe ls izkIr jde dks 
fuEufyf[kr vk; dh Js.kh esa j[kk tk;xk % 
(A) iwath ykHk 
(B) —f”k vk; 
(C) O;olk; dh vk; 
(D) buesa ls dksbZ ugha 

58. In the case of shares, long term 
capital gains will arise, if the 
assesse retains the shares with him 
for a period of    
(A)   Less than 12 months  
(B) 12 Months  
(C)   More than 12 months  
(D) None of these  

 58. va'kks dh n’kk esa nh?kZdkyhu iwath ykHk mlh 
n’kk esa gksxk tc dj nkrk bUgs vius ikl 
j[ks % 
(A) 12 ekg ls de  
(B) 12 ekg 
(C) 12 ekg ls vf/kd  
(D) buesa ls dksbZ ugah 

59. Cost inflation index number for 
financial year 2020-21 is  
(A)   1081 
(B) 1024 
(C) 272 
(D) 301 

 59. foŸkh; o”kZ 2020&21 ds fy, ykxr òf) 
lwpdkad gS % 
(A) 1081 
(B) 1024 
(C) 272 
(D) 301 

60. For capital gains being a long term 
capital gains, an assessee should 
retain the asset for a period of  
(A)   24 months 
(B) 36 months 
(C) More than 36 moths  
(D) 12 months  

 60. iwath ykHk dks nh?kZdkyhu gksus ds fy, 
djnkrk ds ikl lEifŸk jguh pkfg, % 
(A) 24 ekg 
(B) 36 ekg 
(C) 36 ekg ls vf/kd 
(D) 12 ekg 
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61. The Income tax rate on a long term 
capital gains for an individual is  
(A)   10% 
(B) 20% 
(C) 15% 
(D) 30% 

 61. ,d O;fDr dh nh?kZdkyhu iwath ykHk ij 
fuEufyf[kr nj ls dj yxsxk % 
(A) 10% 
(B) 20% 
(C) 15% 
(D) 30% 

62. The Income from the sole of house 
hold furniture is . 
(A)   Taxable Income  
(B) Exempted Income  
(C) Capital gains  
(D) Revenue Gains  

 62. ?kjsyw QuhZpj dks cspus ij vk; gS % 

(A) dj&;ksX; 

(B) dj&eqDr 

(C) iwath ykHk 

(D) vk;xr YkkHk 

63. Which of the following would 
attract capital gains tax? 
(A)   Special Bearer bond, 1991 
(B) 6 1/2% Gold bond, 1977  
(C) Stock in trade  
(D) None of these  

 63. fuEu esa ls fdl en ij iwathxr ykHk 

dj&;ksX; gksxk \ 

(A) fo’ks”k /kkjd ck.M] 1991 

(B) 6 1/2% Lo.kZ ckW.M] 1977 

(C) O;kikfjd jgfr;k 

(D) buesa ls dksbZ ugha  

64. A partnership firm sold a 
residential house. Under which  
section the firm can get exemption 
on long term capital gains ? 
(A)   Sec 54 
(B) Sec 54D 
(C) Sec 54EC 
(D) Sec 54F 

 64. ,d lk>snkjh QkeZ us fjgk;’kh edku cspkA 

QeZ dks fdl /kkjk ds vUrZxr nh?kZ dkyhu 

iwath ykHk ij dj ls NwV fey ldrh gS \ 

(A) /kkjk 54  

(B) /kkjk 54 D 

(C) /kkjk 54EC 

(D) /kkjk 54F 

65. Which of the following is not a 
capital assets? 
(A)   Goodwill of business   
(B) Jewellery  
(C) Stock in trade  
(D) Agriculture land in Delhi  

 65. fuEu esa ls dkSu lh iwath lEifŸk ugha gS \ 

(A) O;kikj dh [;kfr 

(B) vkHkw”k.k 

(C) O;kikfjd eky dk jgfr;k 

(D) fnYyh esa —f”k Hkwfe 
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66. Capital gains is classified into how 
many types ? 
(A)   Two  
(B) Three  
(C) Four  
(D) Five  

 66. iwathxr ykHk dks fdrus izdkj esa ckaVk x;k 
gS\ 
(A)    nks  
(B) rhu 
(C) pkj 
(D) ikap 

67. Which one of the following 
statements are correct ? 
(A)   Voluntarily registration is not 

possible under GST.  
(B) A person may get himself 

registered voluntarily and 
shall comply will all the 
provision of GST Law  

(C) Both (A) and (B)  
(D) None of the above  

 67. fuEukafdr esa ls dkSu lk dFku lgh gSA 
(A) G.S.T ds vk/khu ,sfPNd iath;u 

lEHko ugh gSA 
(B) ,sfPNd iathdj.k iath;u izkIr dj 

ldrk gS vkSj G.S.T ds lHkh 
izko/kkuks dh vuqikyu djsxk 

(C) (A) vkSj (B) nksuks 
(D) mi;qZDr esa dksbZ ugh 

68. A person having business  vertical 
in a state certain a separated 
registration for each business 
vertical ? 
(A)   Single shall  
(B) Multiple shall  
(C) Multiple may 
(D) Single may 

 68. dksbZ O;fDr ftlds O;olkf;d izdYi ,d 
jkT; esa gSA izR;sd vkoflf;d izdYi ds 
fy, ìFkd iath;u izkIr gSA 
(A) ,dy djsxk 
(B) vusd djsxk 
(C) vusd dj ldrk gks 
(D) ,dy dj ldrk gks 

69. Within how many days a person 
should apply for registration ? 
(A)   Within 60 days from the date 

he become liable for 
registration  

(B) Within 30 days from the date 
he become liable for 
registration 

(C) No time limit  
(D)   Within 90 days from the date 

he become liable for 
registration 

 69. fdrus fnuksa ds vUnj fdlh O;fDRk dks 
iath;u ds fy;s vkosnu djuk pkfg, \ 
(A) iathdj.k ds fy;s nk;h gksus dh fof/k 

ls 60 fnu ds vUnj  
(B) iathdj.k ds fy, nk;h gksus dh frfFk 

ls 30 fnu ds vUnj  
(C) dksbZ le; ugha gSA 
(D) iathdj.k ds fy;s nk;h gksus dh frfFk 

ls 90 fnu ds vUnj  
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70. Which one of the following is 
true? 
(A)   A person can’t collect Tax 

unless he is registered   
(B) Registered person not liable 

to collect tax bill his 
aggregate  turn our exceed Rs 
20 lacks/10 lacks.  

(C) A person caN collect the tax 
during the period of his 
provisional registration . 

(D) Both (A) and (B) correct  

 70. fuEukafdr esa D;k lgha gS \ 

(A) dksbZ O;fDr dj lxzg ugh dj ldrk] 

tc rd iath—r u gksA 

(B) dksbZ O;fDr dj lxzg ugha dj ldrk] 

tc rd ldy vkòfr : 20 yk[k o 

: 10 yk[k ls vf/kd u gksA ¼tSlk 

Hkh ekeyk gks A ½ 

(C) dksbZ O;fDr vius vLFkkbZ iathdj.k ds 

nkSjku dj lxzg dj ldrk gSA 

(D) miZ;qDr ¼A½ o ¼B½ nksuks lgha gSA 

71. Which one of the following is 
exempt from G.S.T :- 
(A)   Any business exhibition  
(B) Any business exhibition in 

India  
(C) Any business exhibition 

outside India  
(D) None of these  

 71. fuEukafdr es ls ,d G.S.T  ls eqDr gS\ 

(A) dksbZ vkofld izn’kZuh  

(B) Hkkjr esa dksbZ vkolkfd izn’kZuh 

(C) Hkkjr ls ckgj dksbZ izn’kZuh 

(D) dksbZ ugha 

72. Which of the following is correct ? 
(A)   Whole Income of Trust is 

exempted  
(B) Whole Income of Registered 

is exempted   
(C) Income of trust from defined 

charitiable  activities is 
exempt from GST. 

(D) Income from registered trust 
from defined charitiable 
actives is exempt from G.S.T   

 72. fuEukafdr esa dkSu lgh gS  

(A) fdlh VªLV dh lEiw.kZ vk; th ,l Vh 

ls eqDr gS \ 

(B) iath—r VªLV dh vk; G.S.T ls 

eqDr gS\ 

(C) fdlh VªLV dh fufnZ”V@ifjHkkf”kr 

iq.;kFkZ xfrfof/k;ksa dh vk; G.S.T ls 

eqDr gS \ 

(D) fdlh ith—r VªLV dh xfrfof/k;ks 

dh vk; G.S.T  ls eqDr gS\ 
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73. Supply of goods to SEZ unit is 

treated as in the hand of supplier ? 

(A)   Exempt supply reversed of 

credit  

(B) Demand Taxable supply no 

reversed  

(C) Export of credit supplier  

(D) None taxable supply Out side 

the scope of credit  

 73. SEZ bdkbZ dks iwfrZ dks iwfrZdrkZ ds fy, 

ekuk tkrk gSA 

(A) dj eqDr iwfrZ&ØsfMV dh okilh 

(B) ekuh xkbZ dj;ksX; iwfrZ ØsfMV dh 

okilh ugha  

(C) fu;kZfrr iwfrZ 

(D) xSj dj ;ksX; iwfrZ&GST ds {ks= ds 

ckgj 

74. Zero rated supply includes : 

(A)   Export of goods/ service  

(B) Supply of goods/ service to 

SEZ developer/unit  

(C) Supply of goods/service to 

SEZ developer/unit 

(D) Both (A) and (B) 

 74. ‘kwU; nj iwfrZ esa ‘kkfey gS \ 

(A) eky lsokvksa dk fu;kZr  

(B) SEZ fodkldrkZ@bdkbZ dks  

(C) SEZ fodkldrkZ@bdkbZ }kjk eky 

lsokvksa dh iwfrZ 

(D) (A) o (B) nksuks  

75. Which of the following taxes well 

levied on imports :  

(A) CGST 

(B) SGST 

(C) IGST 

(D) CGST or  SGST 

 75. vk;kr ij fuEukfdar esa ls dkSu dj ykxw 

gS\ 

(A) CGST 

(B) SGST 

(C) IGST 

(D) CGST o  SGST 

76. Supply shall attract IGST 

(A)   Inter-state  

(B) Inter-state   

(C) (A) and (B) both  

(D) None of these  

 76. iwfrZ ij IGST ykxw gSA 

(A) jkT; ds vUnj  

(B) vUrjkZ”Vªh; 

(C) (A) ,oa (B) nksuksa 

(D) buesa ls dksbZ ugha 
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77. What are the Taxes levied an on 
Intra state supply  
(A) CGST 
(B) SGST 
(C) CGST or  SGST 
(D) IGST 

 77. jkT; ds vUnj iwfrZ ij fuEu GST ns; gS A 
(A) CGST 
(B) SGST 
(C) CGST o  SGST 
(D) IGST 

78. House Rent allowance is  
(A)   Fully Exempted  
(B) Exempted to certain limits  
(C) Exempted in Big cities  
(D) Exempted for Govt. 

Employee  

 78. Ekdku fdjk;k HkŸkk % 

(A) iw.kZr% dj eqDr gksrk gS 

(B) ,d lhek rd dj eqDr gksrk gS  

(C) cM+s ‘kgjks  esa dj eqDr gksrk gS 

(D) ljdkjh deZpkjh ds fy, dj eqDr 

gksrk gS  
79. Reimbursement of medical bills of 

a private hospital is exempt upto .  
(A)   Rs. 8000 
(B) Nil 
(C) Rs. 20000  
(D) Rs. 25000 

 79. futh fpfdRlky; fcyks dh izfriwfrZ dj 

eqDr gksrh gS % 

(A) 8000 : rd 

(B) ‘kwU; 

(C) 20000 : rd  

(D) 25000 : rd 

80. Value of the facility of Gardner is 
taxable for :  
(A)   Every employee  
(B) Specified employee   
(C) Officer  
(D) Director  

 80. ekyh dh lqfo/kk dk ewY; dj&;ksX; gksrk gS  

(A) izR;sd deZpkjh ds fy,  

(B) fof’k”V deZpkjh ds fy, 

(C) vf/kdkjh ds fy,  

(D) Mk;jsDVj ds fy,  

81. Interest credited in recognized 
provident fund account is exempt 
up to :  
(A)   8% 
(B) 9% 
(C) 9.5% 
(D) 10% 

 81. izzekf.kr izkfoMs.V Q.M [kkrs esa tek C;kt 

dj&eqDr gS% 

(A) 8%  rd   

(B) 9%  rd 

(C) 9.5% rd 

(D) 10% rd 
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82. Deduction for entertainment 

allowance is availed by : 

(A)   Govt. Servant  

(B) Non-Govt. Servant  

(C) Both (A) and (B) 

(D) None of these  

 82. euksjatu HkŸks dh NwV feyrh gS  

(A) ljdkjh deZpkjh dks 

(B) xSj&ljdkjh deZpkjh dks 

(C) (A) ,oa (B) nksuks dks 

(D) buesa ls dksbZ ugha 

83. Salary Includes  
(A)   Cash Receipts  
(B) Perquisites  
(C) Profit in lieu salary  
(D) All of these  

 83. osru esa ‘kkfey gksrs gS % 

(A) udn izkfIr;ka  

(B) vuqykHk 

(C) osru ds LFkku ij YkkHk  

(D) ;s lHkh 

84. Salary Includes : 
(A)   Wages  
(B) Pension  
(C) Commission on sale   
(D) All of these  

 84. osru esa ‘kkfey gS % 

(A) etnwjh 

(B) isa’ku 

(C) fcØh ij deh’ku  

(D) ;s lHkh 

85. Deduction allowed from gross 
salary :  
(A)   Professional Tax  
(B) Entertainment Tax 
(C) Income Tax 
(D) Insurance Premium  

 85. ldy osru esa ls dVkSrh feyrh gS % 

(A) O;olk; dj  

(B) euksjatu dj 

(C) vk; dj 

(D) chek izhfe;e 

86. The maximum amount for 
deduction as entertainment 
allowance to a government 
employee is : 
(A)   Rs. 5000 
(B) Rs. 7500 
(C) 1/5 of salary  
(D) Not at all  

 86. ,d ljdkjh deZpkjh dks izkIr euksjatu HkŸks 

dh dVkSrh dh vf/kdre jde gS % 

(A) 5000 : 

(B) 7500 : 

(C) osru dk 1@5 

(D) fcYdqy ugh 
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87. Which of the following allowance 
is totally exempted from income 
tax ? 
(A)   Dearness allowance  
(B) House rent allowance  
(C) Foreign allowance   
(D) None of these  

 87. fuEu esa ls dkSu lk HkŸkk vk;dj ls iw.kZr% 

dj eqDr gS \ 

(A) eagxkbZ HkŸkk 

(B) edku fdjk;k HkŸkk 

(C) fons’kh HkŸkk 

(D) buesa ls dksbZ ugah 

88. A Government employee received 
salary Rs. 120000 and 
entertainment allowance Rs. 10000 
during the previous year. He spent 
Rs. 6000 on entertainment. He is 
entitled to deducation u/s 16(ii) 
(A)   Rs.10000 
(B) Rs.6000 
(C) Rs.5000 
(D) Nil. 

 88. ,d ljdkjh deZpkjh dks xr o”kZ esa 120000 

: osru rFkk 10000 : euksjatu HkŸkk feyk 

mlus euksjatu ij 6000 : O;; fd,A mls 

/kkjk 16(ii)  esa dVkSrh feysxh % 

(A) 10000 : 

(B) 6000 : 

(C) 5000 : 

(D) ‘kwU; 

89. Education allowance is exempted 
for . 
(A)  One person  
(B) Four person  
(C) Two person  
(D) None of these  

 89. f’k{kk HkŸkk dj&eqDr gS 

(A) ,d O;fDr ds fy,  

(B) pkj O;fDr;ksa ds fy, 

(C) nks O;fDr;ksa ds fy,  

(D) buesa ls dksbZ ugha 

90. State which of the following 
allowances are exempted ? 
(A)   Dearness Allowances  
(B) City compensatory 

allowances  
(C) Foreign Allowance  
(D) Medical Allowance  

 90. fuEufyf[kr esa dkSu lh vk; dj eqDr gS! 

(A) eagxkbZ HkŸkk 

(B) uxj {kfriwjd HkŸkk 

(C) fons’kh HkŸkk 

(D) fpfdRlk HkŸkk 
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91. Exempted income of a partner 

from the firm is : 

(A)   Salary from partnership firm  

(B) Interest from partnership firm  

(C) Share of profit in the firm is  

(D) All of these   

 91. Lkk>snkj QeZ ls dj eqDr vk; gS \ 

(A) lk>snkjh QeZ ls osru 

(B) lk>snkjh QeZ dk O;kt 

(C) lk>snkjh QeZ dh vk; esa fgLlk  

(D) ;s lHkh 

92. Maximum limit of Interest 
Exemption or individual account 
in post office saving account is ? 
(A)   Rs 2500/- 
(B) Rs 3500/- 
(C) Rs 4500/- 
(D) Whole amount  

 92. Mkd[kkus ds O;fDrxr cpr [kkrs ij 

vf/kdre vk; dj eqDr gS \ 

(A) : 2500@- 

(B) : 3500@- 

(C) : 4500@-  

(D) lEiw.kZ jkf’k 

93. Income of minor is Exempted ? 
(A)   Rs 1000/- 
(B) Rs 1500/- 
(C) Income of minor child or Rs 

1500, which ever is less  
(D) Whole Income  

 93. vo;Ld cPps dh vk; dj eqDr gksrh gS \ 

(A) : 1000@- 

(B) : 1500@- 

(C) vo;Ld dh vk; ;k : 1500@- tks  

         nksuks esa de gSA 

(D) lEiw.kZ vk; 

94. Exempted Incomes is  
(A)   Income from Domestic Co. 
(B) Dividend from Domestic Co.    
(C) Dividend from foreign  
(D) None of these  

 94. dj eqDr vk; gS %& 

(A) ?kjsyw dEiuh ls O;kt 

(B) ?kjsyw dEiuh ls ykHkka’k 

(C) fons’kh dEiuh ls ykHkka’k 

(D) buesa ls dksbZ ugha  

95. Tax free income from the 
following : 
(A)   Agriculture Income  
(B) Foreign allowance   
(C) Dividend from Indian Co.  
(D) All of these  

 95. fuEufyf[kr ls dj eqDr vk; gS %& 

(A) —f”k vk; 

(B) fons’kh HkŸks 

(C) Hkkjrh; dEiuh dk ykHkka’k 

(D) bues ls lHkh 
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96. The daily allowance received by 
Member of Parliament is :-   
(A)   Exempted  
(B) Taxable  
(C) To be included in total 

income for Tax purpose  
(D)   None of these  

 96. Lkaln dk HkŸkk dj ;ksX; gksrk gS \ 
(A) dj eqDr  
(B) dj ;ksX; 
(C) dj ds mís’; ls dqy vk; esa tksM+h 

tkus okyh vk; 
(D) buesa dksbZ ugha 

97. In which section of the Income 
Tax Act Exempted incomes have 
been mentioned ?   
(A)   Sec 10 
(B) Sec 80C 
(C) Sec 13 
(D) Sec 2 

 97. dj eqDr vk;ks dk mYys[k fdl /kkjk esa gS 

\ 

(A) /kkjk 10 

(B) /kkjk 80 C 

(C) /kkjk 13 

(D) /kkjk 2 
98. A new undertaking is Established 

is special Economic zone during 
previous year 2015-2016 
Deduction index  u/s 10 AA is 
allowed for :-    
(A)   5 year Assement year  
(B) 10 Assement year   
(C) 8 year Assement year  
(D) 15 Assement year  

 98. ,d u;k miØe LFkkfir fd;k fo’ks”k vkfFkZd 

{ks= esa o”kZ 2015&16 esa mls /kkjk 10 AA esa 

dVkSrh dk ykHk feysxk \ 

(A) 5 dj fu/kkZj.k o”kZ 

(B) 10 dj fu/kkZj.k o”kZ 

(C) 8 o”kZ dj fu/kkZj.k  

(D) 15 o”kZ dj fu/kZj.k 

99. Agricultural Income is :- 
(A)   Taxable 
(B) Exempted  
(C) Partly Exempted  
(D) None of these  

 99. —f”k vk; gS %& 

(A) dj ;ksX; 
(B) dj eqDr 
(C) vkaf’kd dj eqDr 
(D) buesa ls dksbZ ugha 

100. State, which of the following 
income is exempted from Tax.  

(A)   Agriculture Income  
(B) Interest on govt. securities   
(C) Income from salary  
(D) Capital gain  

 100. fuEu esa dkSu lh vk;&dj eqDr gS  
(A) —f”k vk; 
(B) ljdkjh izfrHkwfr;ksa ij O;kt 
(C) osru ls vk; 
(D) iwthxr ykHk 

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.    

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET). Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note:  On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


